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QUESTION 1
How do multiple Horizon Connection Server instances in a pod maintain synchronization?

A. Horizon Connection Server instances keep their data in an AD LDS database, which is automatically synchronized
between the Connection Server.

B. Horizon Connection Server instances keep their data in an Oracle database, which works as the central hub.

C. Horizon Connection Server instances keep their data in a local MySQL DB. The data is synchronized once every
24h.

D. Horizon Connection Server instances keep their data in an MS SQL database, which works as the central hub.
Correct Answer: A

Explanation: Horizon Connection Server instances keep their data in an AD LDS database, which is automatically
synchronized between the Connection Server. AD LDS is a Lightweight Directory Access Protocol (LDAP) directory
service that provides flexible support for directory-enabled applications, without the dependencies that are required for
Active Directory Domain Services (AD DS). AD LDS provides much of the same functionality as AD DS, but it does not
require the deployment of domains or domain controllers. In a Horizon environment, each Connection Server instance
has a copy of the AD LDS database and replicates changes to other Connection Server instances in the same pod. This

ensures that the Connection Server instances have consistent and up-to- date information about the Horizon resources
and user sessions12 References: Configuring Horizon Connection Serverl Understanding VMware Horizon Services2

QUESTION 2

Which three VMware Horizon based resources does Unified Access Gateway (UAG) provide access to? (Choose
three.)

A. virtual desktops

B. RDSH-based applications

C. physical Windows machines

D. IOT devices

E. thin clients

Correct Answer: ABC

Explanation: Unified Access Gateway (UAG) is a secure gateway appliance that provides access to VMware Horizon
based resources such as virtual desktops, RDSH-based applications, and physical Windows machines. UAG supports
multiple authentication methods and protocols, such as SAML, OAuth, and RADIUS, to provide secure access to end
users from any device and location. UAG also provides edge services such as load balancing, high availability, and
firewall rules to optimize the performance and availability of Horizon based resources12. References := 1: VMware

Horizon Architecture Planning: Unified Access Gateway 2: VMware Unified Access Gateway Administration Guide:
Introduction to Unified Access Gateway

QUESTION 3
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Refer to the exhibit.

Drag and drop the correct options to build a Simple True 5SO Architecture on the left into the diagram on the right.

Select and Place:
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Correct Answer:
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QUESTION 4

Which three of the following are benefits of using Virtual Machines? (Choose three.)

A. Difficult to move or copy.

B. Independent of physical hardware.

C. Faster to provision.

D. Bound to a specific set of hardware components.

E. Easy to move or copy.

Correct Answer: BCE

Explanation: One of the benefits of using virtual machines is that they are independent of physical hardware. This
means that they can run on any compatible host machine, regardless of the underlying hardware components. This also
enables them to be migrated, moved, or copied easily from one host to another, without requiring any reconfiguration or
installation. This enhances the flexibility and portability of virtual machines, as well as their availability and disaster
recovery. Another benefit of using virtual machines is that they are faster to provision than physical machines. This is
because they can be created from templates or snapshots, which contain preconfigured operating systems and

applications. This reduces the time and effort needed to install and configure software on each machine. Moreover,
virtual machines can be cloned or duplicated quickly, allowing for rapid scaling and deployment of multiple identical
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instances. References := Virtual Machines Overview Creating and Provisioning Virtual Machines Migrating Virtual
Machines

QUESTION 5
Refer to the exhibit.

Drag and drop the ports on the left to allow an external Blast Extreme connection through Unified Access Gateway
(UAG) into the diagram on the right.

Select and Place:
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Correct Answer:
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